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Q1: Choose the interval that describes the shaded region
2 - 08,0
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0

@ (—0.0) ‘ B) (—.0] ‘ C) (0,0) ‘ D) [0.0)
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Q2: Choose the intervals that describe the shaded regions

TereT e ) sEn 2
0 2 5
A) (==.0)U[2.5] (B) (—=.0]U(2.5) | ©) (—».0)U[2.5) | D) (—=.0]U(2.5]
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Q3: The solution set of the inequality 3x +5<38 1s 1§ v

A) (==.1) C) [1.=) (D) (1)

(2]

Q4: The solution set of the inequality 5x —3 > 7 —3x is

NES olir)

EAx3AS 143

: The solution set of the inequality 2 <3x —4< 5 is

‘ B) [2.3) ( 1 ‘ C) (2.3)
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Q6: The solution set of the mnequality x ?<9is

A) (—0.—3)U(3.») | B) [3.3] | ©) (—0.=3]U[3.) ‘@{73.3)
pA
2 < V
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Q7: The solution set of the inequality xZ =9 is

A) (—=.—3)U(3.2) | B) [-3.3] - ‘@(—-r-.—S]U[B.-r-) | D) (-3.3)
1
2t 5
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Q8: The solution set of the inequalit® A~=~—2x

A) (—0.0)U(2.0) | B) (0.2)

s
- \
Q9: The solution set of the imnequality x Z_8x + 12@ O/s

o (—0.2)U(6,%0) ‘ B) (2.6) . e ‘ C)}@L_J[@__:f;) \ D) [3.4]

X -%r412=0
X2 (-6 D =0

X-2z0 A-Czco
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Q10: The solution set of the,aq;_lalir\-\_il: 3| =7 is =~

A) {ilo} \B) {—4.10}1 h ‘ ) {_10__4} ‘ D) {%;4}
Y — 5

o
%323 or K-3=T
9C- s . "l ‘\-'3 ’)C.:- r)-"rB
o = =Y A =\a
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Q11: The solution set of the mequality |3,\‘ — 7|[<,/‘2_'15
B) (—-r-.:;JU(S.-Y:) <) (—fﬂ U[3.0)
v N
o2 L 3k-7 L2
- 4] < 3A< Ty 1

Q12: The solution set of the inequality |2x +L{;}7 1s — \
A) (=6.1) | B) (—=.—6)U(L=) \C‘) (—o.—6]U[L0)) | D) [-6.1]
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‘@ 5 unit.

Q13: The distance between the two points (0, 3) "111&4 0) is
‘ C) 25 unit.

‘ B) +/10unit.

AV) Elmi‘r.
3 \(/ "“52*63«031 = {é-quf's‘ 21X ,)’Z_E' 5

¥0j| !’b j"-'
‘ D) \/E unit.

Q14: The distance between the two points (3.2) and (—1.—2) 1s
‘ C) 4 unit.

@‘@ unit. ‘ B) \/g unit.
NS
Voo Jyts a" \] 3G =
Iéx’b ‘\r

v (3~ 1Yy (-2)
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Q15: Equation of the hor 1zom'11 line ]zqssmg through the point (—2.3 0 5) s
|B) y =—2 {‘6))} =5 [ D) x =2
oY1EoM ﬁaﬁx

A)yx =5

Oy —

Q16: Equation of the line that passes through the point (4,—1) with kope ze 9‘ 1s
-
‘B)x:—l ‘C)J-=4

Ay x =4
L T—

Q17: Equation of the vertical line passing through the point (—2.5) 1s
y=-2 | O v =5
\ eX L g} CJ‘X

A)yx =5
Q18: Equation of the line that passes through the point (4. —1) aud\las no slope\is
| D)y =1

‘C‘)J-=4 N

B)x =-1

Q)

SW..
= T el
A

D

B) =
) 2

Q19: Slope of the following line 2y —5x +7 =0 1s

Al =

NT )2
|D) y =06x —5

Equation of the line with slope(;@aud v-intercepi\sJis
|B) v =6x +5 Dy

A} y =—6x +5
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Q21: The y-intercept of the line x +2y =—4 is
A)2 - ® -
2 g~

fzj.::"—"‘-‘-b

Q22: The x-intercept of the line x +2y = —4 1s
A)?2 |B) 2 [C)a

X = -9

LA Az
Q23: Slope of the line that passes through the pownts (4.1) and (—2.3) 1s

A) 3 [B)1/3 (& —1/5

mo 3= o VZ3 - oy
ALi-A2 u‘.._;‘z. é 2,

P fa
Q24: Equation of the line that passes through the point (—1.1) with slope{yis

Ay =—x +2 |B)J‘:.\‘—2 ‘@)':.\'+2 |D)”1':—x—2

3= 1 CL A1)+

3:’: x*"'\"
Q=48
A3 o

)
Q25: Equation of the line passing through the point (1,2) with slope(yis
A)y = —5x +3 [B) y =5x +3 [O) y = 5x 3

Yz ow (A - XY
D= @\3«1
Yo 5o -zt
\é:gi-}
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Q26: Equation of the line passing through the points (4.1) and (-2.3) 1s
A)x +3y +7=0 (BYx +3y-7=0 | O x -3y —7=0 [ D)x -3y +7=0

‘g"jx _ ‘3?-"}\ \,,3...‘ }
CSE N ST '“‘""?4 3

x4 Z
"KWM:

"33 x3 I
X+3‘b-“\—3 = D -1,—..);3‘1,*305—-’)"3-6!]

A

Q27: Equation of the line that passes through the point (2,1) and parallel to the line y =x +2 is

A)y =x +1 ﬂﬁ_l’}‘:,\‘fl |C‘) Yy =—x +3 |D)”\‘:x -3

\gzm(ﬁﬂﬁ\s‘r‘&\
V= v (k-2 %)
e -2

)

Q28: Equation of the line that passes through the point (2.1) auq pen‘peudicgul@o the line y =x +2 is
N
A) y =x +1 |B) y =x —1 ‘C'}Py:forB ‘D) y =x —3

X, I\

m= - | PCZ)\)

Y= wm A= A XN
Y = - A =) x\

L Fex ¥\
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Q29: Equation of the line that passes through the point (—2,2) and parallel to the line 2x +y =4 1s

|B) 2x +y =2 ‘C')x—z)':é} |D)x—2}':—6

A D
? C--'Z.“L)

-

W, -
B,w%\)«ﬁ\
W, (AN e

; gk =\ T
Nz oA
- =L
2L+ E T
Q30: The equation of the line passes through the point (—2.2) and perpendicular to the 1i11% 2x +y =4 isl

A) 2x +y =2 | B) 2x +y =2 O x —2y =6 [OMN =323 =—6

¢ (-2 '2,)

Yo ow Ch =AY

Y <% (A32)x 2

Y. xxlr® TN S
vy I A . W= A0 OQ_Z‘};C:;« )
M - ;/,,/

Q31: If the graph of y =1—x* is shifting to the lef‘[\_)lmt 111(1 then it 15 shifting dow u\\ ard l unit, thus the
new graph can be represented by ‘a J/ (,7“ X \_) C 1‘\.\)

A) y=x +1)° @&y = +1° (O y = -1’ [D) y=(x -1’

‘Jt-“\

— am za -*

Q32: If the graph of ¥ =+/x is shifting to the right 4 units and then it is shifting downward 2 units, thus the

new graph can be represented by -

=
A) ¥ mNx 42 ‘B) y =N o442 ‘C) Y =~Nx+4+2 QDD_\-:\L\-fﬂffz

Q33: If the graph of y = Jxis shifting to the left 4 units and then it is shifting upward 2 units, thus the new
graph can be represented by S a:\.\ m— -\-’L T e
Ay =vx 142 |B)y =Jx 442 \@ Jx+a+2 D)y =V —4-2

‘..-""
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Q34: Domain of the function f (x)= ij;Zx is
A) (—o0.4) —0. 4 C) (4.0
A ( o TG [© (4.)

F-t7z, ©
-1 7 L
X 2%

x <YW

("001‘\1

Q35: Domain of the function f (x)= L — 1s g)'\," 2 ‘\"?/'w \S

x —1

B R-{0} X K R—{_l} A-\=?

16 -§-~12 =0
3x +5
Q37: Domain of the function f (x )= qﬂ is 0\ -3 -—1'2,_—; - 6

— x~—x-—12
a) R—{H4) | B) R—{ K3} ‘@R—{—i{} | D) R—{-4.-3}
j.?'" A-\1 = o
Cot D> AFZ) =2
%-\\‘IO Axd = e

- 2= .
heA R Op . R Xy

/—_——-—-—
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Q38: Domain of the function f (x)=+/x 2 4 s d\,v\,J PP/JJ “"J 6&‘.’
A (- 2)U(2)  [B[22] 4y e [R(22) @ (. 2]U[2= )

(—90,- l‘u)
P g
xh\‘\.?} j\"‘{‘ - e¥Y % ?f’L'

21T el U L)

V9 — -4 =Sk0
AN ?CX) < 40\9’“ >
)*‘?,’L @(‘ 1\"-")

i/? _
Q39: Domain of the following function [ (x )= 9 1s

A (==,0]\ {3} B) [0.)\{3} [ R\{-3.0.

Q

Lo E)UL”“’&

Eo i°03 "'((L%S
Ea1"“)_[__z_,_§_§._

Vo

Q40: Domain of the following function [ (x) :l :3%‘ 216 is

A) (—2.—4]U[4.2)  [B)R\{-4.4] EENT @ t

& on
Q41; The function f (x)=x" 241 1is QN A

d E)"Jn even function. | B) an odd function. | C) an even and odd function. | D) neither even nor odd function.

a L G\ \
Q42: The function f (x)=x P+ x 1S ¢
A) an even function. { B\ an odd function. | C) an even and odd”#nction. | D) neither even nor odd function.
=

@Ay SAF
Q43: The function f (x)= 21 is =~ R A

P Y X —
g;—\! an even function. | B) afodd%linction. | C) an even and %@ld function. | D) neither even nor odd function.
7/

Q44: The function f (x )—\.. 2 1s
A) an even function. | B) an odd tunction. ‘ C) an even an@édd function. KD) iei‘rher even nor odd function.
' p—

A
Q45: The function f (x)= 2 is °

o ’7
A) an even function. KB)¥n odd function. | C) an even and odd function. | D) neither even nor odd function.
Nl
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Q46: The function f (x)=x 2 _6x is

o
A) an even function. | B) an odd function. | €) an even and odd function. [W) ) heither even nor odd function.

Q47:If f(x)=x and g(x)=+/x —1. then domain of the function ( f + g )(x ) is

@)[Lx) ‘ B) (:-_1] O R - ‘ D) (L)

Ojl-.p\( ﬁd-\?,o

x>\

/)7

.

-

<‘>E/\D°3_:Zb°°)

Q48:If f (x)=x and g(x)=+x —1. then domain of the function ( f/ —g )(x ) is
—

A) (—on.1] ‘ B) R ‘ O (L) — @) [Loc)

Q49:If f(x)=x and g(x)=~/x —1. then domain of the function ( /" x g )(x) is

AR ‘ B) (1] @ [1L) ‘ D) (L.=)
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QS50:If f(x)=x and g(x)=+/x —1. then domain of the function ( / /g )(x ) is

A) [1_.7_) ‘ B) (_.75_1] ‘ O R @(lr)

P L

.15-@) -

Va-\

A-1>0
>\

Oy 2 029

7T N A
Q51: Iff(x):f'+5 and g(.\‘):&rz—}/then (Feg)x)=
O (B)y<° 2 (o) x242

Pagy = 345 = X 32

-

Q52:If f(x)=x +5 and g(,\'):‘i\;zf_?,then (f 4g)
A) 4 | B) 2

3 (i
Q53: It‘f(x)J'\x +)d and g(.\'):.\'z—f%.then (g cf)(x):

A) xZ+10x —22 KB)\ xZ+10x +22 \ C) x?—10x +22 D) x* —10x —22

~ g
Vo (R) = (219) - 3
— ﬁ"‘-rz D G) « S _ 2
. (Frrox s )
A Jo¥26 -3 z( A ¥ Vo x
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Q54:If f(x)=x +5 and g(.\‘):.\‘z—S.then (g {fw %C%_) ',:..5 -3 = S -3
A) 20 'B) 22 L Igﬂz [D) 21

5){0);-3 *rS= S

N A\

Q55:If / (x)=x +5.then (f of )(x)= .
‘ B) x +25 (’CJ)\ +10

A)x2+5

Pof - AxS <5 = oL x\O

. £
Q56: If £ (x) = — Sand g(x)=LV'dhe“ (feg)x)=
et 17:\' i
1
Fy B) —— C
Y ) x —1

N ‘T &

Q57:If f(x)= 1 and g(x)=+/x —1. then the domain of (f og)(x) is

1—x —

A) (L) @)(_T.z)up. =) [O) [1.=)

Py —

} = (-1

Cr) U Crees )

PR
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Q58: If F(x)+ 1 )'111(1 0(\)7\.‘ .then (g of J(x)=

S L SR =

3 ? /_~1 \( 1..(\—%)
=
= N -

_,~sz~—
¥

Q59 If f(x)= I and g (x)=+/x —1 . then the domain of (g of )(x) is
1—x — ——

A) [0.1]

Ao

‘ <) (0.1)

‘D)Ri

V<

V.
3"’2“ ) =0

Vi-%

Q60: |3.2]=

A)32 'B) 32

Q61: | 32 |=

A) 3.2 | B) 32

:@ 4

’\
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Q62: If f(x)= :— then the domain of f (x) is given by
+

A) R\{-3.-20} ~ \LB) R\{-3.0 “J | c%\{7;70_3}
H_r s

%3* A= %= o
x (xxd=t)=o

Xze }C ¥FA- 6= o
(A~2) K-2) =3
iﬂ-.o\i-?.oa

R =3 A- 2

g)kd.d»f. '%Cb@

\ B) 270°

QG65: It a circle has radius 3 e, what 1s the length of an arc subtended by a central angle of
-
= 3

27
~ rad?

B) icm @ 27 cm D) —L].ll
27 27

>

JARS
22 ) -
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Q69: cos(lSOc' )l = \

A) 3 o) 75

B)

L
V2
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61- 2Sin{%]cos[%] STALF =z LS K G X

B |
C)E D) —

1
NG

S (_-%) = SVaAD

Q72: 2x si11(40°)>< Cos(40°) —

A) sin(40°) B) cos(40° )

Sin(2xye) = S (8o )

D) Cos(80° )

l\

_ 51112(250)—0—(:052(250)7 — = S\W —-lO
Q73: csc(70° ) C S Q(’}O}
O

sin(70°) B) Cos(70°) ) csc(70°) D) sec(70°)

Q74: cos*x —sin*x =

A) cos2 x ] ‘ B) 1 ‘ ) siu(zx) @COS{Z:\’)

8 X 3
Q- - (o-Y aAx Vv
CQ’SL’( - i) (Qn.stx_dr '-'-:‘-&Q o= C b
\

e Go ok = Cos 2R
é——
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915: CC&T_E\‘ ) = — Cﬂ ) &l
A) —cos,\’\ | B) —sinx | ©) cosx | D) sinx ’
= ¥ o2

. N 2N
— A

-{

Q;Z;?:;' sin[%—x ): - C} S x

A) cosx | B) —sinx

R O

Q77:If sin@ >0 and cos# <0, then the angle & lies in the

A) first quadrant. @secoud quadrant. C) third quadrant. D) fourth quadrant.

qe 1 Qe
v

Q78: If sin@ ==, where T -8 <x.then tan@=
= 2 = —_—

R 0-:

-3 N
:--""""—.'
_'—_\-‘-\ﬁ J:\:{
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B Q'ﬁs
LB S

Q79:If sin@ = —i. where 7 < 8 <22 _ then cos& =
2 2 —

N

(D) s
N——

P

T

<\° ll%‘s Ca:.u.‘

Q80: If tan & = —é. where % <& < 7, then cscf =

o
?’d‘: o/,
2v*

37
Q81: It secd = . where 22 <@ <27 . then tan @ —
R 2 2 -—

B) 2

T

et
o
~
-\

Q82: The function f (x)=
odX

n even function. | B) an odd function. | C) an even and odd function. | D) neither even nor odd function.
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